PT 41 LM

[ASOHOKOCUJIKA BEH3VHOBAA

APTUKYJ1: 512 10 9005
EAN8-20011802

PEJTN3Z: 12.2015

AETAJINPOBKA U3 AEJINA

PATRIOT

qacreii ¢ caiita www.ks-tehniks.ru (499)394-42-88




patrior I

PACYHOKA
APTWKYJT: 512 10 9005

# APTUKYN OMNCAHUE KOJ1-BO
Al 20340040000 Haknagka Ha pyKoaTKy 1
A2 70500040000 BepxHaa pykoATKa 1
A3 70540052000 Pbluar ocTaHOBKM ABUratens 1
A4 20350010000 OrpaHuynTenb pyyKm 2
A5 70230090000 Hanpasnatowas WHypa 3anycka 1
A6 60130020000 lanka M6/8.8 2
A7 60060590000 Bont M6X30 1
A8 70050120000 [epxaTtenb Tpoca BKN/BbIKN 1
A9 60150080000 KoHTpraiika M6/8.8 1
A10 005510122 Tpoc Bkn/BbIKN 1
A1 60170380000 BuHT ST4.8X17 2
A12-A15 005510123 Bapaluek kpenneHnsa pykoaTku B cbope 1
A13 60190140000 Lllainba 8.4%16*1.6 2
A14 20040030000 bapatek 2
A15 60140080000 laka M8 2
A16 005510201 PykoATka npaBas HUKHAA 1
A17 005510202 PykoATKa neBaa HUXHAA 1
A18 20240010000 Knunca 2
A(X/;;} 005510124 Pbiyar rasa B cbope 1
A20 20320010000 HWXHAA KpbllwKa pyyKn rasa 1
A21 20310020000 Pyuka rasa 1
A22 20330010000 BepxHAA KpbllwKa pyyKn rasa 1
A23 60200060000 LWain6a 6.5x12x1 1
A24 005510125 Tpoc raza 1250mm 1




patrior I

PACYHOK B
APTWKYN: 512 10 9005

12

# APTUKYN OMNCAHUE KOJN-BO
B1 19970070000 [Buratenb B cbope 1
B2 70740600000 OcHoBHOW Kopryc 1
B3 20400070000 Kopnyc nnacTrkoBbiii MoA BbIGPOC TpaBsbl 1
B4 20170010000 3acnoHka 1
B5 60170290000 BuHT ST6.3X14 8
B6 70290050000 KpoHLwuTeliH 3agHero npaBoro Nnprneoaa 1
B7 70290070000 KpoHLuTenH 3agHero n1eBoro npreoga 1
B8 70180160000 Pbluar perynmpoBKu BbICOTbI 1
B9 60300030000 LWnnuHT 1.5%25 2
B10 60060520000 Bont M6X12 4
B11 60150080000 KoHTprarika M6/8.8 4
B12 20160070000 MexaHn3m mynbumpoBaHua 1
B13 60060390000 Bont M8x25 3




C1
c2
a
c4
()

PATRIOT ) N e G e AR

PACYHOK C
APTWKYJT: 512 10 9005

APTUKYN
70840130000
005510126
60190150000
60150120000
005510127

OMUCAHUE

Ban konec (nepepHwnn)
Koneco nepepHee B cbope
LWainba 10.5x20.5x1.5

lanka M10

3arnyluKa Koneca nepegHero

KON-BO

N N NN




patrior I

PACYHOK D
APTNKYJT: 512 10 9005

# APTUKYN OMUCAHUE KOn-BO
D1 70850600000 Ban konec (3agHuin) 1
D2 70870010000 Pbluar perynmpoBKu BbICOTbI 1
D3 005510128 PyKoATKa pblyara perynnpoBKu BblCOTbI 1
D4 60060520000 Bont M6x12 2
D5 60200030000 Lain6a 13x20x2 4
D6 005510129 Btynka (NoALWMNHUK) 3aAHero Koneca 4
D7 005510130 Koneco 3apHee B cbope 2
D8 60240060000 LWainba npyxuHHas ©12 2
D9 005510131 3arnyLka 3afjHero Koneca 2
D10 005510132 Ocb (BTYNKa) 2



E1
E2
E3
E4
E5
E6
E7
E8
E9

patrior I

APTUKYN
005510133
005510134
005510135

60170180000
60170330000
60130010000
005510136
70030020000
60380150000

OMUCAHUE

BepxHAA YacTb TpaBOCOOPHIKa

BokoBas 3awmTa TpaBOC6OpPHUKA

HvkHAA YacTb TpaBoCOOPHIMKa

BunT ST/3.5X18

BuHT M5%10

lanka M5

Pa3rpy3ouHas KpbillKa TPaBOCOOPHIIKa 3agHAs

Ocb pa3rpy304HON KpbILKM TPaBOCOOPHMKa

Bo3BpaTHas Npy»KrHa pasrpy304HON KPbILLKM TPAaBOCOOPHIKa

—6-

PACYHOKE
APTWKYN: 512 10 9005

KOn-BO

—

_ a a NN = .




F1
F2
F3

F4

F5
F6

PATRIOT ) N e G e AR

APTUKYN
005510137
005510138
005510139
005510140
512001010
005510141

005510142

OMUCAHUE

LLinoHka MydTbl HOXa (20MMm)

Waiba nog mydty Hoxa (18Mm)
MydTa/CoeAMHUTENbHDI aAanTep HoOXa

Hox

Larnba Hoxa
Bont HoXa 20/50mMMm

PUCYHOKF
APTWKYJT: 512 10 9005







